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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Ffafea & 9 a9-9 fTem @ 98
fagwar 7 & ?
(1) fawma & oRads @xar @
() T T waa e |
A HEwEqel T &
(3)?25@1@25 Yo @A e

(@?ﬁﬁﬂﬁ%ﬂﬁﬂ%ﬁﬂmsﬁ

2. frefatad § & -4 &l & A9
=g v fafy & 7
(1) T i Feheiehl
(2) usEEt
(3) ¥% fee

(4) rEEh R

3. ‘T YT B STER 1 B © ¢
(1) | GRS
(2) X Ui
(3) ST (1) T (2)
(4) SR | q B el

4. Frefatad & | dH-G6F 9T &) Jed
sl fame yhR e i L
78 &7
(1) FATHbE
(2) STSMaT!

(3) I Wd F Sifah HEES
T

(4) T ® MR W S & 9T
S g

Level-3/9215

1.

3.

4.

Which of the following is not the
true characteristic of Development ?
(1) Development involves changes
(2) Early Development is more
critical than later development

(3) Development Patterns

unpredictable

are

(4) There are individual differences
in development

Which of the following is indirect
method of measurement of motives ?

(1) Sentence completion technique
(2) Questionnaire

(3) Checklist

(4) Interview

What are the basis of 'Self Concept' ?
(1) Social Roles

(2) The Body Image

(3) Above (1) and (2)

(4) None of the above

Which of the following is not the

characteristic of introverted thinking

type personality as given by Jung ?

(1) Self Centered

(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

P.T.O.



[A]

16 a4 &% AY % A= H R
SRTRT foerer &1 STl & ?

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 719 & 1200 7H
(4) 800 IH & 1000 IH

-4 FASE A AT IR
e it & Qafes 99 @
JeM+h &7 @ faae Teqa fom o ?
(1) it

(2) §Ft Tos &ve

(3) s

(4) X WG9 TMees

frefofeg & @ H9-91 T9@ENN &=
el qe § 7

(1) T4

(2) g

(3) YRR T SR
(4) gERHTT

frefofeg & @ #9-d
PRt d g QU T A
R & SUY @ed WX &

SR B 7

(1) T9€ TG STRHINT

(2) gmIiSTh STIeY

(3) ST TEHI/STBT Tshl
(4) FA AR IS e

134

Level-3/9215

[4]

. Which

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Psychologist ~ presented
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton

. Which of the following is Direct

Method of Adjustment ?

(1) Repression

(2) Regression

(3) Withdrawl and Submissiveness

(4) Rationalization

. Which of the following orientation

falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order



10.

11.

12.

13.

fr=ifeifeg & @ H9-di fheRrEn &l
faQrar 782 ?

(1) GameHs ReRan
) R g g
(3) Fa9™T &I =

(4) g G i Ae

ST M AT B B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
TfeT, FHedAld &

(1) foegaey faeere
(2) ol fren wEwT (IEP)

(3) APRIAHE L

(4) 9T &Y

frafofea & & #=-w1 ot wfq &

qer FET e 7

(1) e

(2) NEd arer

(3) &

(4) 98 ERE & G g W SR
HET

Frefefad & | ®iF-a1 G99 9T
& dMIe oM Rera 8 g
e ?

(1) HisfeiT

(2) AFHT

(3) SR

(4) MBS SARFH
aﬁ—eﬁr?ranﬁﬁasna—vr%aﬂww

AUNHT B WA GY T TUSHIG
Rl & A U ¥ AR § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Level-3/9215

[5]

10.

11.

12.

13.

[A]

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after

instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the

symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

P.T.O.



[A]

14

15.

16.

17.

18.

. R F AR ‘A e
%l el e -G e ?

(1) aRe™ BErar g9 g9
(2) 9BdM SFM Yo Hifel
(3) Fmedr aM faeT

(4) I g9H ReRar

Frefafed & & aF-w fowe a@
Yo GoTTeTRdl B O 787 & ¢

(1) et (2) STHaA

(3) T (4) A
frefefeg & @ @®9-a1 ofrm &
gITCeh TMTROT & YR 7e & ?
(1) II9d TR

(2) HiHEH R

(3) BifeeT =

(4) I SRR

Frefefed & @ &9-d1 BEs &1
Ue TR ST J87 8 ?

(1) QAgTEEeT

(2) T@E ST

(3) TETEET

(4) EmEeE

e ®Er & ‘“oMifee Shifed
Sig-SJall & X & G s
g ?

(1) &X fafead Aepg

(2) 9 WifeE e

(3) Ao TEEHEY

(4) faferm si=

Level-3/9215

[6]

14.

15.

16.

17.

18.

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation

Which of the following is not the
element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage

(2) Autonomy stage

(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures"” ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James



19.

20.

21,

22,

fr=ifoifeg & | S9-a1 e a=fem
T o o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
# fafy

(2) R SEue i fafy
(3) Jraa sfe@T AT e H
(4) =T ARy & aRersH

@ FM & WY, A T
YAETeH & SR & & T SR
3 g8 feied d | fees gies

B TATT e 8 °
(1) = (2) AR
(3) WIS (4) 93T

U SO & e A o it
P WA G de F Tgaad D,
B9 H Sgaed Bedd, U9 @
SgaeH U9 I HA 4 el 7 Ae|
T SgaET el § AeHE S A
TE fhH THN & HARFH MR 6
JEEI B 7

(1) ST ST

(2) FMHE T

(3) g AR

(4) S S

Level-3/9215
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19.

20.

21,

22,

[A]

Which of the following is not the

type of "Psychophysical Method" of

study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?
(1) Piaget

(3) Freud

(2) Vygotsky
(4) Bandura

According to the  Cognitive
Development Theory of Piaget, "The
basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation
(3) Accommodation
(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer

P.T.O.



[A]

23. fFefofad & @ d9-@1 SEU &

Ty /T faRe § 7
(1) AR

(2) ITed

(3) fomma

(4) TET I Ity

24. X BN SloUled  “UERE =E
Rt A K | s G B TR o1 A e et o B

deft 7

(1) it o1 Res=t

(2) 9 T JhR s
(3) UK f¥gT=

(4) AAaeATTeh e

25. fSeffad & & H9-91 ‘99W AFRS
e gl H e Al TR © 7

(1) 52 & 67
() 36 9 51
(3) 20 ¥ 35
(4) 20 § =

26. Ffofad § & HHE-81 TSR
Yo afdde [ 8g offes Al
TER &l T ?

(1) e ergy
(2) AEHE TEW
(3) fompeHt ergy
(4) TEEHL MEA S e ST

Level-3/9215

[8]

23.

24.

25.

26.

Which of the following is objective
determinants of Attention ?

(1) Interest

(2) Habit

(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is 1.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life styles for the
development of personality given by
Adler ?

(1) Lazy type

(2) Ruling type

(3) Go-getting type
(4) Escaping type



27.

28.

29.

30.

Ao @@ g1 qhee § feew wiE
@ & fw o 8 ?

(1) 10

2) 12

(3) 15

(4) 28

Freifafad & @ @F-a1 9l & gie
9 @] 3 R ™ atka &7
JhR TET 8 ?

(1) Jsrt<as
(2) omfidie
(3) FHATTE

(4) el

frafafag & 4 sF-a1 dHSES 3™
Ue STRRTH T MoT/Herdsh a9 & ?

(1) deaXa &1 e
(2) IHE F |
(3) "R ght &1 FEH
(4) U9 H |

frfofag & @ d9-o feaimaeen &t

T8l faQuar 7&f e ?

(1) fpaaeen ST AR
%mww%ﬁaa%qﬁa?ﬁaw
|

(2) fpaivaen # wH ST RIS
feafy Bt 1

(3) fraiaen JgEEET 1 &
B B

(4) FRINEEN  grdiGaett @ {HY
B B

27.

28.

29.

30.

[A]

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10

2) 12

3) 15

4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise
(3) Law of mental set
(4) Law of effect

Which of the following is not the

true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9215

P.T.O.



[A] [10]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9215




[11] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9215 P.T.O.
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46.

47.

48.

[12]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9215

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[13]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9215 b1 o,



[A]

[14]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Th HT AW H, 'DISTANCE'
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forn S B, @ 3 9 e A g,
'THURSDAY' &t for@n s :

(1) HTRUDSYA

(2) HTVSREYA

(3) UHVSTEYA

(4) VIRUDSZB

FAG 10 HeX I B AN F@@l 2
Il ¥, T8 IR B R 6 HeX T
3l Y a8 q@ &t ofX 3 X =
3l T A JEANT fg & Hew d
P Ram A 8 ?
(1) uf3=™

(2) SRT-uiEd
(3) -

(4) =@

yqq a¥ § % Aa
# gha & S T
5% ' HH B S Bl AR
IV H SWEEr 79,800 o,
g H OMCH § HGE

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

Level-3/9215

61.

62.

63.

In a code language, 'DISTANCE' is
written as 'IDTATOEC' and
'DOCUMENT"' is  written  as
'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600



64.

65.

66.

67.

68.

69.

70.

i M (o e S | G L L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

& Fe A Bt 2 3 3 o &

(1) 27: 20
(3) 4:9

(2) 20:27
4) 9:

(2) &=

(3) 9fa (4) |gx

qul H HH S&d (SN qT U a9
H TH T W B
'HEARTLESS' ffa @@= drdfe g<af
§ fomfora feam o g & °

(D1 (2) 2

3) 3 “4) 4

s W ¥ 27% faerft oReh #
I gU AR 38% fasme # orwt
W, A 19% I R F ergw
g, @ 2T fawdt & S B gfed ©
(1) 46% (2) 54%

(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 (2) 10, 11
(3) 13, 14 4) 10,9
TF Al 90 » QUi f&em 7 13
fpt o e @ Rew & 28 ol W@
I &Y B 9R 5 HS &H W Al
B U T o ?
(1) 1v5 st /99er (2) 2 fHt /g0er
(3) 2V4 fpHt /g9er (4) 3 At /g0eT

Level-3/9215
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64.

65.

66.

67.

68.

69.

70.

[A]

Find the wrong terms of the

following series :

1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R
The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :
(1) 27:20 (2) 20:27
3)4:9 4 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?
(11 (2) 2
3) 3 4) 4
In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46% (2) 54%
3) 62% 4) 81%
Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14, 11, 2, ?
(1) 10,10 (2) 10,11
3) 13,14 4) 10,9
A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?
(1) 1¥2 km/hr
(3) 2% km/hr

(2) 2 km/hr
(4) 3 km/hr

P.T.O.



[A]
71

72.

73.

74.

75.

76.

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet 9X 3 e ® °

() 19 (2) 11 (3) 20 (4) 21

A, B Sgrg s&e C XD, E @
REEAMCHTIA T & &R
C,BA g g a = & & -4
HIT TETH &9 ¥ FT R ?

(1) A, C q 93T 8l

(2) C,D ¥ g1

(3) D,C q 921 2l

(4) E,B ¥ g1

M, T, R, K X D & ud% &I @9
AT E, M dad T @ 87 3 X D
A K § @1 81 31 9 d9u asd
T AT B B 7

(T @D B)M @R

BES)

- ~ & qY S B
3 1
[
4 3
11 1
M 2 @) 2=
11 1
3) 35 4) 3§
e q qgeq, o @ ey SEd o
F oMy H R B a= ad g,
fUer & g I8 T B Ag W 7
T i R @ g oy @
(1) 40 g (2) 3094
(3) 50 a (4) 4579

qide fRem @ R B IR IET B
frg Remd & ?
(2) aferor

(1) T
(3) uie=m 4

Level-3/9215
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71.

72.

73.

74.

75.

76.

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(H 19 2) 11 3) 20 @) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselder to B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

IO T @D 3 M 4R

HEC)
BED)

The square root of

is equal to :
11 1
1) 2— 2) 2—
(D D (2) 5
11 1
3) 3— 4) 3—
3) B “4) B

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years
A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East



78.

79.

80.

81.

82.

(1) 15 o & 918
(2) 12 o & 91
(3) 14 o & 918
4) 16 o & 9%

10% aiffes &9 & W Srsdial
ThlE BT X 800 BUY H TH T
926.10 &9 fhaw a¥ & s A ?

(1) 39 ) 1 a9

(3) 4v» a9 4) 2 a9

8, 15 aX 24 ¥ fauig am am
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400

I 6 YT A f9hT gd, 8 Al & A

g%w%,a‘rwmﬁrrﬁm

(1) 25% @ (2) 25% &=

(3) 33%%31% 4) 33%%@1
AT % W Ted 68 W9 oM
RN & A (STeE) B & 7

(1) fepra I

(2) T G

(3) Glo A= @

(4) dlo dio THo o YA

BRATT 3G STHEH & ST D © 7
(1) M= TR

(2) HP& q8q

(3) =X P

4) QI 9

Level-3/9215

77.

78.

79.

80.

81.

82.

[A]

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?
(1) 3 years (2) 1%z years

(3) 4Y2 years (4) 2 years

The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800
(3) 3600 (4) 6400

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang
(2) Kumud Bansal

(3) Chander Trikha
(4) Suraj Bhan

P.T.O.



[A]
83

84.

85.

86.

87.

88.

89.

90.

. BREem ¥ W @He @ Hed el
arafted § 7
(1) ®UEEE (2) aQNTa
(3) &I (4) T®
HTaeT Gdl § W@ Ysh foerdr @l
BRI TR &N &l S arl JOeRe
i 2
(1) & *3g
(2) & Fg
(3) TEER @
(4) 3% g

1857 % fomle & 3N Asas &M
foreedier @I o ?

(1) 99 R (2) s=go $89
3) TeH A (4) BB

g T, S % T g ©
(1) AT (2) afee

(3) A& 4) 3=

‘TeFpy @ RO & B9 N H
Reg 2 7

(1) JeT% (2) deg

(3) HEIA (4) DT

R fagraT, S st 2019 &
A B 9 e H W R

(1) 124t (2) 134t

(3) 144t (4) 154t

M BMe @ B & H fhE TS
@R § T 6 T 8 7

(1) ZTEE e

(2) TS TS

(3) elE T T T S1as

(4) HME< e

fre 9T & IR AW & or ?

(1) "e=TTe
(3) HIA

(2) ST
(4) GFg

[18]

83.

84.

85.

86.

87.

88.

89.

90.

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang (2) Sahibi
(3) Dohan (4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak (2) Panchkula

(3) Karnal (4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12% (2) 13"

(3) 14" 4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh (2) Ambala

(3) Kaithal (4) Sonipat

Level-3/9215
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[A]

qFT— IV / PART = IV
Mfcrs fas/ PHYSICS

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

o0 raed § R T BEgeH TR
10.2 eV Fofl HEMT HI & T AR
YEY & AJAX SFEM & O
HaT H gfE B

(1) 1.05x 1074Js
(2) 2.11 x 10734 Js
(3) 3.16 X 1074 Js
(4) 422 1074 Js

Th H (Al Th o o o
4, P R v = ta W E, #
IReRs 31 SHH ol AN 99 4 eV
T T M BN GeM s R
SFTAR Bl T & FAqH §9G Fofl ©

. N
N

(1) 8eV
) 4eV
(3) 2eV
@) 1eV

+a

Level-3/9215

91.

92.

A hydrogen atom in ground state
absorbs 10.2 eV of energy. Then,
according to Bohr's model, the
orbital angular momentum of the
electron is increased by :

(1) 1.05x 10734 Js

(2) 2.11 x 10734 Js

(3) 3.16x 1074 Js

(4) 422 x 1074 Js

A particle is confined to a one
dimensional infinite potential well
with walls at x = *a. Its energy eigen
value is 4 eV and corresponding
eigen function is shown in figure.

The lowest possible energy of the

. N
N

(1) 8eV
) 4eV
3) 2eV
@) 1eV

particle is :

+a

P.T.O.



[A]

93.

94.

95.

00 & N F R () & Fd
g 10.2 x 10° kg 31 afy Sert
fmmd 9@ ¥ St T 250 m @9, 80 m
AT T 80 m HAR B Th AIADHR
S H B, o A B % SN @
YaT @ &) 4 fea A B (@
ST & g9 = 1020 kg/m?)

(1) 50m
(2) 60 m
(3) 40 m
(4) STaE G

UF oFHRRT  ofEdt aldd @

d’x dx
m——+b"+kx=0 q aplg @

dr  di
S 81 A m = 250 g, k = 85 N/m
T b =70 g/s B, O FAERT STE
AH B A-M H T IRNH A B
MY T F & &0 a1 ©

(1) 10's
(3) 2.5

2) 5s
4) 1255

20 kg F Th B VW F AR
FEER TN & 8 § Tewdl ol
B Y% dX @ oG TR 1 m
T A 2 mm & T % GHM 9]
TeT FA Bl WA B ACHM W
T d] H fOedR & e ¢

(Ve =2 x 10" N/m?, g = 10 m/s?)
(1) 0.08 mm  (2) 0.04 mm
(3) 0.02 mm 4) 0.01 mm

Level-3/9215

[20]

93.

94.

95.

A supertanker (ship) filled with oil
has a total mass of 10.2 x 10 kg. If
the dimensions of the ship are same
as those of a rectangular box 250 m
long, 80 m wide and 80 m high,
determine how far the bottom of the
ship is below sea level (density of
sea water = 1020 kg/ m3) :

(1) 50 m
(2) 60 m
(3) 40 m

(4) Insufficient information

The motion of a damped harmonic

oscillator 1s described by

2
m b k=0, m=250 g,
dr dt

k =85 N/m and b =70 g/s the time
it takes for the amplitude of the
damped harmonic oscillator to drop
to half its initial value is :

(1) 10s (2) 5s

(3) 2.5s 4) 1.25s

A 20 kg chandelier is suspended
from the ceiling by four vertical steel
wires. Each wire has an unloaded
length of 1 m and a diameter 2 mm
and each bears an equal load. When
the chandelier is hung, the stretch in
each wire is approximately :

(Yer =2 % 10"'N/m?, g = 10 m/s?)
(1) 0.08 mm  (2) 0.04 mm
3) 0.02mm  (4) 0.01 mm



96. AR L TN AN m & Th qaal 88
Ed Rl W SR fE &
afcoTd: dehl ol o™ R B ® WeN
3 9l SN @ Pre fmr S R e
P A & A 9E B & @ B H
W @ § ¢

Vi
AQ B

L
(D g
3
(2)§g
5
3) =
()3g
4) g3

50 x 107 kg/m Y69 9 &
H dR 450 N & oG & 99 & 3§
Rl & #eg o g3 B AR 420 Hz
R W AR HW 8l THF AR
490 Hz % ANl I== IMERT W
IR FA 21 AR & T% o

97.

() 2.1m (2) 42 m

(3) 6.3m (4) 84m

Level-3/9215

[21]

96.

97.

[A]

A thin rod of length L and mass m is
suspended horizontally by a pair of
vertical strings attached to the ends.
The string supporting end B is then
cut. The linear acceleration of end B
of the rod just after the string is cut,

1S :

3)

W | W

(4) Zero

A wire having a linear mass density
50 x 107 stretched

between two rigid supports with a

kg/m is

tension of 450 N. The wire resonates
at a frequency of 420 Hz. The next
higher frequency at which the same

wire resonate is 490 Hz. The length

of wire is :
(I) 2.1m (2) 42m
3) 6.3m 4) 84m

P.T.O.



[A]

98.

99.

TElia e 8, 5, a S, A TR
fog @ B St A = 400 nm TERE &
TR S #d ol a8,
y = 640 nm T Aq S,, y = —640
nmtl'{ﬂaﬁ?ﬁglﬁlﬁ‘gﬁ(x=720nm
W) W S, & Ggad at a1 S, «q
TgaR Al T 0.600 m T &
FAK ° S Bl A W HE-A1 T
S Gl 9 g P, Sy = 720
nmﬂﬁqaﬁ?lﬁ%ﬂqgﬂﬁqﬁﬁﬂ'@ﬁ
% 7 FARN Il ©

y
P,
S
S P
() A6=32% (2) Ap=29A
(3) Ag=02A (4) Ad=341L
Th =0 AR n YT & Th [
TG H PN F AT T 21 T

% ol Y BRI o« & @ g9 @l
IRy o Ruq B AR aR F € i §,
agd & &m W gEhg RO 3™
Y foa S ©

(1) =t
2Ta

@) B="0"
2Ta

3) B= Hort tan(z—nj
n

2Ta

4) =L
a

Level-3/9215
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98.

99.

In figure shown, two isotropic point
sources §; and S, emit light at
wavelength A = 400 nm; source S,
is located at y = 640 nm and source
S, 1s located at y = —640 nm. At
point P, (at x = 720 nm) the wave
from §, arrives ahead of the wave
from S, by a phase difference of
0.600 ™ rad. What multiple of A
gives the phase difference between
the waves from the two sources as
the waves arrives at point P, which
is located at y = 720 nm ?

y
P,
S
S, Py
(1) Ab=32% (2) Ap=29A
(3) AG=02L (4) Adp=34A

A conducting wire in bent in the form
of a regular polygon of n sides. All the
vertices of the polygon are situated at
the circumference of a circle of radius
a. If the current through the wire is i,
the magnetic induction at the centre of
the circle is given by :

2Ta

N tan(zj
n

2Ta

(3) B=Ho¥ tan(z—nj
n

2Ta

(1) B=

4) =t
a



100. T G499 =% A T B Th SATMEH

101.

S 8N Je &, g afce |ae
W @ B TN SFUN @ TEH Ml
C, u 99 ¥ Il &8 =6 B W U8
q THA & o % A T B AR
et =i B § €9 SRt 2, @ 20 &
T & PRI A T ST 8

(1) g

(2) mu/3

(3) =2 mul/3

(4) mu

g gAER A B §C R T
B =25 W (6m/52)f+
(4m/s*)] B T Eq I | I 2
T ty=55 W &1 & @O
(4mls>)i +(-6m/s*)] B &9 &
fore o g i B e ® AR 1, -
TS AGHA o FH ©

(1) /52 m
2) 1.46 m
3) 292m
(4) 438 m

Level-3/9215

[23]

100. Two

101.

[A]

identical blocks A and B,
connected by a massless string are
placed on a frictionless horizontal
surface. A bullet C of same mass
moving with speed u strikes block B
from behind as shown in figure. If
the bullet gets embedded into block
B, then the impulse on A due to
tension in the string is :

A Cu B
m

(1) Zero

(2) mu/3

(3) -2 mu/3

(4) mu

At t; =2s the acceleration of a
particle in counter clockwise circular
motion 1is (6m/s2)f+ (4m/s2)}. It
moves at constant speed. At time
t, =5s the particle's acceleration is
(4m/s*)i +(—=6m/s>)j. What is the
radius of the path taken by the
particle if 7, —# 1is less than one

time period ?
(1) /52 m
(2) 1.46 m
(3) 292 m
(4) 438 m

P.T.O.



[A]

102. WM Wi 6 feell a9 WM X @
qel -50°X W S@dl § el
~170°X W ST 21 313 K A9 34
X ¥R W® e B 7 (T @
FEI® @ 373 K & @ A+ &
X YT 39 R)

(1) —122°X

(2) 263°X

(3) —110°X

4) 100°X

103. TR AT 1+1+1+1 S B ¢

(1) 1111
(2) 100

(3) 111
4) 1001

Level-3/9215

[24]

102.

103.

Suppose that on a temperature scale
X, water boils at —50°X and it freezes
at —170°X. What is a temperature of
313 K on the X scale ? (Take
approximate water's boiling point as
373 K and assume that the X scale is

linear)

(1) —122°X

(2) 263°X

(3) —110°X

4) 100°X

The Binary addition 1 + 1 + 1 + 1

equal to :

(1) 1111

(2) 100

(3) 111

4) 1001



[25] [A]

104. ¥ Ta99 €U A @ B R aifkan

104. Two identical capacitors A and B of

C?H 99N fa9g V o ol &<
t=0W § IR F Fer I 3 A

fp R & agrtar T ®
+ ||=
Ic
R
AW
B
+ =
I
A
R
AN

9 t = RC W €Yl A 9 B ®
AR FAT: ¥ (SRS omEst WHI Tl

e TS Pl FHR B o) :

(1) CV, CV

@ cv

(3) CV, CV/e

cv CcvV
@ e

Level-3/9215

capacity C are charged to the same
potential V and are connected in two

circuits at ¢ = 0 as shown in figure :

A
+||=
lc
R
WWW
B
+ 1=
Il
JAN
R
WWWWH

The charges on capacitors A and B
at a time t = RC are respectively
(Assume diodes to be ideal. Here e

denotes exponential) :
(1) Cv,cv

@ <oy

(3) CV, CV/e

CcvV CV
@ e

P.T.O.



[A]

105.

e W & e ufies W oS
W® T Bhd WA & V-T IR W
e &¢ o 7 e & swiar T R
T & IR e 95 o § e
B UH ¥ W p, ;E, V, RCH
T T, A9 W T 39 THI T B
forg ¥ & foRa T A ©

2V,

Vo

|

3) po—vo[ln2+l}
2 2

PoVo
4) £0¥0
4) 5

Level-3/9215
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105. Consider the V-T diagram for a cyclic

process performed on a sample of ideal
gas as shown in figure. The initial
state of the gas is represent by the
point a. Initially the gas has pressure
Do, volume V,; and temperature 7.
The net work done by the gas in this

cyclic process is :

2V,

Vo




106.

107.

108.

FErT fopdll ORATY] & SATRTCMEEh X-fehee
WFeH, o Igb Gad WRH W
FENNT 8, P M 81 FERE &
et & § & K, X-fel & @
® A qEU Kp X-Re & Ew B
L, X-fotet &t St @

E

1A 2A A
(1) 3.1 keV (2) 6.2 keV
(3) 9.3 keV (4) 18.6 keV

T Hie (Rl @8 &) T ReX g
TFEH q P YHOH BT R
I oAl AR fGem & 90° W
TRIld BT Bl 3G RN avies
3 x 1072 m B vl swee @
e STt ®

(1) 4.13x 10° eV

(2) 2.28 x 10° eV

(3) 1.85x% 10° eV

4) 6.41 x 10° eV

9 T% Bied U% 9 GleM @

Ao Bl e HaT & a9 aNf

B W@ B

(1) 999 FHoll, T e, T T,
A SART

(2) g9 SHoll, U 9N, U o,
R qiee

(3) g9 Soft, TN feem, =T o,
LRIEEC G| ‘

(4) T Sort, T fRme, 999 &,
TN qeet

Level-3/9215
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106.

107.

108.

[A]

Figure shows characteristic X-ray
spectra of some atom superposed on
continuous spectra. Out of the two peaks
shown one corresponds to K, X-rays

and another one corresponds to K X-

rays. The energy of L, X-rayis:

N

oy
5 |
= :
:
E E
& !
— 2
1A 2A A
(1) 3.1keV (2) 6.2keV
(3) 9.3keV (4) 18.6 keV
A photon undergoes Compton

scattering by a stationary free
electron (of some target). The photon
scatters at 90° from its initial
direction and its initial wavelength is
3 x 1072 m. The kinetic energy of
scattered electron is :

(1) 4.13x 10° eV

(2) 2.28x 10° eV

(3) 1.85x10° eV

(4) 6.41x 10° eV

When a photon stimulates the

emission of another photon, the two

photons have :

(1) same energy, same direction,
same phase, same frequency

(2) same energy, same direction
same phase, different wavelength

(3) same energy, same direction
different phase, same frequency

(4) same energy, different direction,
same phase, same wavelength

P.T.O.



[A]

109.

110.

0% qd o U e @
TR e o B, F Rt SAE 9%
TH 59 90 81 T B W A e
S ® % 99w # 59 @ WX gUEd
I T B &9 W AT FER [N

BT 91T

(1) o
@) %oc

3) 2«

4) 3a

T Y6 & @ a9 Gl R
I A e | 3T S @ & o
B &t @l SNX o7 T 21 aW o
TN TR & e SEntd B o
AR A VT A Vo2 T TA ®

3, @ Yk EN Sgfd SmghiEl @
S & :

(1 1
2) 12
(3) 1/3

4) 2/3
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109.

110.

A long cylindrical vessel having
linear coefficient of expansion ., is
filled with a liquid upto certain level.
On heating, it is observed that the
level of the liquid in the cylinder
remains the same. The volume
coefficient of expansion of liquid

must be equal to :

(1) o
© %oc

3) 2«

4 3a

An observer stands between two
sound sources. Source A is moving
away from the observer and source B
is moving toward the observer. Both

of
sources

emit sound
If both
moving with a speed V,./2 the

Sources same

frequency. are

ratio of the frequencies detected by
the observer is :

(D 1
2) 12
(3) 1/3

4) 2/3



111.

112.

THIT B T BT 30° BeH I At
Th FH &% Th B WX 60° &Y WX
e ekt 81 B & Feia R
o fReer & 30° @ SR R
Frefa T SH wa% & @9ad & ored
IE Y e =1 Bed & wEre @
YA ©

9
(1) \/;

3) V3

2) 2

) 1.6

Ueh SRR TAiWE & AR R
q &9 3 Gk ol T BRH & g
HBAG 1, T T WA B W 1,
21 A & T ST B

T
Tl + Tz

)]

T + Ty
T

(2)

3)

T1+Tz

4 1 ~1,
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111.

112.

[A]

A ray of light is incident at an angle
of 60° on one face of a prism of
prism angle 30°. The ray emerging
out of the prism makes an angle of
30° with the incident ray. The
emergent ray is perpendicular to the

face through which it emerges. The

refractive index of the material of

prism s :
9

(1) f 2) V2
4

3) V3 4) 1.6

A radioactive nucleus can decay by
two different processes. The half life
for the first process is T; and that for
the second process is T, . The effective
half life of the nucleus will be :

T
Tl + Tz

)]

T + %)
T

2

3)

T + %)
4)

T ~T

P.T.O.



[A]

113.

114.

A I @el B aeRE HEA A
T A+ AL T SRl AL << Al ST &
AT Dagriex § HUE TR A0 3
TR fr o § (T J e aree
an om & He T e fw @
AferT 2Bt 2)

(1) A9 = A
(d/m)* =2
(2) AB= AA
(d/m)* + 2%
3) Ae:A—l
2 2
A d?
()
@) Ap=—_ 2

() -

wh g (=) @ @ § 75 om g0
W R B T R W & W
12cm ®%E g0 % Th IO od A

FE W @ T qE T W T
g S W< & 9@ °

(1) 9% § a1 & 25 cm &1 50 cm &
W W

(2) g% & A dF 30 cm AT 45 cm A
AU

(3) & & A a1 15 cm I 60 cm
XU

(4) drEdiqes Jidiers I SN GH
TE R

Level-3/9215
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113.

114.

Two emission lines have wavelength
A and A + AA respectively where
AMA << A. Their angular separation
A in a grating spectrometer is given
approximately by (Here d is the slit
separation and m is the order at
which the lines are observed) :

(1) AB = A
J(d/m) =22
(2) AB= AA
V(d/m)? +22
(3) AB=—— 2
2 2
(j +d?
m
4) A= Aj

An object is placed at a distance of
75 cm from a screen. Where should a
convex lens of focal length of 12 cm
is to be placed between object and
the screen so as to obtain a real
image of the object ?

(1) either at 25 cm or 50 cm from
the object

(2) either at 30 cm or 45 cm from
the object

(3) either at 15 cm or 60 cm from
the object

(4) to form a real image is not
possible



15. f=fafad & @ @i-a1 qaiivs &

116.

R 7

(1) ofes (vffean) @ a8 o @
St 6 A R

(2) ot (Ffafen) s@@ 9) & B
2 feg aftT & ghsm &9 B

(3) e (dfifsean) @ AR &
2 fog ANt ged & o e &
e frar-sidfkar g9 s 2

(4) o (i) s@ AR @ B
¢ g @lam ween & a9 &
qRHATT T B " o

Th dqEl 9 &9 § gal e

TER &l A R & o 9

fhT ST 99 TSI 1600 m g0 W

800 m H HAE W B TA FW P

AR5 m/s & T a1 | RmE R

(e €)1 dio=n ofcem #<ar @

T 400 m/s & RFHEH a7 § 0 T

(sin@zg] W M AT & i

TR T 8 S Tl & d gEd
o=l F R 3T b e @ 7

(g o @ Im w
g=10m/ s* i)
/I\
5 m/s
400 m/s :
5800111
0 N2
/77 7777777777777
< 1600 m
(1) 55 (2) 50s
(3) 100's (4) 200
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115.

116.

[A]

Which of the following is most
correct !
(1) The normal (reaction) force is
the samething as the weight.
(2) The normal (reaction) force is
different from the weight but
always has the same magnitude.
The normal (reaction) force is
different from the weight but the
two form an action-reaction pair
according to Newton's third law.
The normal (reaction) force is
different from the weight but the
two may have the same
magnitude in certain cases.

3)

4)

A gunman observes a remotely
controlled balloon in enemy territory.
When first noticed the balloon is at an
altitude of 800 m and moving
upwards at a constant velocity of
S m/s and 1600 m away (Fig). The
gunman waits and fires the shells
with initial speed 400 m/s at an angle

0 (sinﬁzgj so destroy the

balloon. How long did the gunman
wait before he fired ?

(Neglect air resistance and take

=10 m/s>
g s7) ~
S m/s

400 m/s :
/800 m
0 AN
/77 7777777777777
———1600 n———>
(1) 55 (2) 50s
(3) 100 s (4) 200 s

P.T.O.



[A]

117. 3R Bd &1 & W 5@ m g,

118.

D AT H URATT p TAT SHAHI
M fasl ot K 8, a9 p a
K% § m3q 96R & o 2
(T ¢ T B o TS F A 2)

1) m= P
2Kc?

@) m= P K
2Kc?

3) mo PO K
2Kc?

@),nzlfi;gf_
Kc

Tk F & g A Fexr d=i S, 9 S,
¥ IR @t @ e w6 4 mys?
g1 W Fo gT

(1) e9r @1 TH-get & ane fwm
§ & em =

(2) TS =1 TH-gER & AU AN

A T ¥ Ry AW TR B
A @i T e =y

(3) S, & WU S,% @ A Al LA
a1 5 8 m/s” & & gaar B

(4) S, % |UH S, H T LI ql
8 m/s> B 7T g A & HA B

Level-3/9215
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117. If m is the rest mass of a particle, p

118.

is magnitude of its momentum and K
1s its relativisitic kinetic energy, then
m in terms of p and K is given by
(here c is the speed of light in free

space) :
2Kc?
@) me P =K
2Kc?
3) mo PO HK
2Kc?
(4),n:£Ef:ﬁSi
Kc?

The accelerations of a particle as
seen from two frames §; and S,
have same magnitude 4 m/s?.
Choose the correct statement :

(1) The frames must be at rest with
respect to each other.

(2) The frames may be moving with
respect to each other but neither
should be

respect to each other.

accelerated with

(3) The acceleration of S, with
respect to §; may either be zero

or 8 m/s>.
4)

The acceleration of §, with
respect to S} may be anything

between zero and 8 m/sz.



119.

120.

WML MR YR & gifreeX §,
SA9h T 6 mA & T STER €I
60 LA B, 9 I=F o, P UG ¥ & 9
g

(1) 0.99, 99, 100
(2) 99, 0.99, 100

(3) 0.99, 100, 99

(4) 0.099, 99, 100
Pl o @ TF o9 | & HiaX g1
p=p0% q e o ® S’ opp M

% GIE W oI ¢ N r &= 9§ gl
3l 3 T & HRT 3D bR 9 2a
W W e & B (Fdl @
sraferT ot B)

(1) nGpoya

T[Gpoa

(2) 5

3) 2nGpya

T[Gpoa

4) 1

Level-3/9215

[33]

119.

120.

[A]

In common collector mode of a
transistor, the emitter current is
6 mA and the base current is 60 UA,

then value of parameters o, B and 7y

18 :
(1) 0.99,99, 100
(2) 99, 0.99, 100

(3) 0.99, 100, 99

(4) 0.099, 99, 100

The density inside a solid sphere of

radius a is given by p=p, < where
r

po 1s density at the surface and r

denotes the distance from the centre.
The gravitational field due to this
sphere at a distance 2a from its
centre will be (symbols have their
usual meanings) :

(1) nGpya

T[Gpoa

2) 5

3) 2nGpya

T[Gpoa

4) 1

P.T.O.
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122.

123.

T A vaied 9 @ U ua 9%
i Ui FIC &% § Jaled S|
P ogm v B g2 WP
IEFIE qAT v AT B, 99 x qA y
ey B

(1) x=y
3) x=y/2

(2) x=-y
@) x*=y

T m SHHH W Bl Th AR
() & @& 30 W m/4 T0% &
dR2 W W

7

(1) ZmR2 2) %mRZ

3 .2
(3)4mR
Bl o @ 9" R @ TF difds
qor fpdl wie TheHH geehid &
e aRATT By sinwt | AT S
T @ ogfew ReX @i B TeE &
SUET B AW
(1) 908 ¥ 911 ®fig o 20 9

ARG ]
(2)?@11’#;@@@1@% a’> B

|

4) 3mR?

(3) a@d H WA THE TR W A
Bj & WHIUR B

(4) T W T 9 ALH B
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121.

122.

123.

The mass of the liquid flowing per
second per unit area of cross section
of the tube is proportional to P* and
v’  where P is the pressure
difference and v is the velocity, then
the relation between x and yis :

(1) x=y (2) x=-y

@) x=y2 @) x’=y

A uniform disc of mass m and radius
R has an additional rim of mass m
and four symmetrically placed point
masses each of m/4 fixed at positions
R/2 from the centre as shown in
figure. The total moment of inertia
of the system about an axis
perpendicular to the plane of disc
through its centre is :

7 2 5 9
1) —mR 2) ~mR
Iy 5m 2) 4m

3) %mRZ (4) 3mR*

A metallic ring of radius a and

resistance R is held fixed along a

spatially uniform magnetic field

whose magnitude is Bjsinwt.

Neglect gravity. Then :

(1) the current in the ring oscillates
with angular frequency of 2.

(2) the joule heating loss in the ring
1s proportional to a’.

(3) the force per unit length on the
ring will proportional to Bg .

(4) the net force on the ring is non-
Zero.



124.

125.

0.75 cm @&l d1 1 mm B @ @&
ENERINECCIIE SRR 1
A g SR @ 51 B J g
%l Te SR SR | SHE T ST 0
3l (Ram & ot &1 9 @@ 0.075
N/m B T el H7 0° %) :

(1) 10°
(2) 30°
(3) 45°
(4) 60°

HET Vy B &l H TH Jergen gl
Pl T G99 bl F Il B HaE 9 h
TS | G AT ST 81 S gagaen
TE & 9% I9 Tgud © e
AT 2V, & I B WhH B AN
qFl H J9 T e & W A
Frad (10°N/m?) &9 e ¥ Ak o
N g9 10°kg/m® T g =10 m/s?

g, 09 TeUE A ?

(1) 1m
2) 10m
(3) 50 m

(4) 100 m

Level-3/9215
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124,

125.

[A]

A capillary tube of length 0.75 cm
and radius 1 mm is kept vertical with
the lower end in water. The angle 6
made by the water surface in the
capillary with the wall is (given the
surface tension of water is 0.075

N/m and angle of contact is 0°) :
(1) 10°
(2) 30°
(3) 45°

4) 60°

An air bubble of volume V, is
released from a depth /& measured
from the water surface in a large
water tank. The volume of bubble
grows to 2Vjas it just reaches below
the surface. The temperature of the
water and pressure above the surface
of water (105 N/mz) remain constant
throughout the process. If the density
of water is 103kg/m3

g=10 m/s?, then the depth his:

and

(1) Im
(2) 10m
(3) 50m
(4) 100 m

P.T.O.
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126.

HE THE b SR fERad weEr |

T HH-a1 98 78 © °

OO 25 i A R 1 o = =
100% 2 Fifh ST Hh TH STEsT
THY B

(2) F T & G SERE qer &
T yRal @ T ®

(3) HET Th A AT WHA aRm &
T (Fea i) weeAl @
fofta 2

@) FA TH B @A dAd A
dugESt & adt W & Y
2

127. {68 p-n @ & foERor a7 Bt ®

(1) n WG & p WG & A

(2) p WIed @ n e H SN

(3) 3T |y Sw-eERd §, @ n 9gd
Y p UISG & AR qU fauwda e
7 gft G ge-aaRia B

(4) aft 9y sw-aafad &, @ p wed
Y n Ted H AT g fquda fRem
T g |y yeg-aafid B
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126. Which of the following statements

127.

about the Carnot cycle is not correct ?

(1) The maximum efficiency of a
Carnot engine is 100% since the

Carnot cycle is an ideal process.

(2) The Carnot cycle consists of two
isothermal processes and two

adiabatic processes.

(3) The Carnot cycle consists of two
isothermal processes and two
isentropic processes (constant

entropy).

(4) The efficiency of the Carnot

cycle depends solely on the
temperatures of the two thermal

reServoirs.

The diffusion current in a p-n

junction is :

(1) from the n side to the p side.

(2) from the p side to the n side.

(3) from the n side to the p side, if
the junction is forward-biased
and in the opposite direction if
the junction is reverse-biased.

(4) from the p side to the n side, if

the junction is forward-biased

and in the opposite direction if

the junction is reversed-biased.



128.

129.

130.

100°C & 1 kg 9l & ST Holl
¥ gie § 99 98 3 999X a1 100
kPa 39 W WY ¥ SE@m & (AT el
99 & g9 HEM: 1000 kg/ m® e
0.6 kg/m’ & T g % fT ams
T HT = 2.25 x 10° Jkg R)

(1) 2.25% 10% J (2) 2.08x 10° J
(3) 1.7x10° T (4) 3.95% 10° J

@ R ™\ N nt spt+u @

FIER & & bl &1 el w
et St @rtt (Rar R mpe?= 139.6

MeV, mucz = 1057 MeV Uq
m, =O) :

(1) 33.9MeV  (2) 4.12 MeV

(3) 29.8MeV  (4) I

I Th AM T H SAYRdH T
A dleedl A Vo, T8 Vi
g, q AIged oN% m 39 TR Al
S B

Viax TV

(1) m = —max min
Vmax - Vmin

(2) m= Vmax — Vmin
Vmax + Vmin

(3) m= Vmax + Vmin

2

( 4) "= Vmax Vmin

V +V

max min

Level-3/9215
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128.

129.

130.

[A]

The increase in internal energy of 1 kg
of water at 100°C when it is converted
into steam at same temperature and
100 kPa pressure is (The density of
water and steam are 1000 kg/m® and
0.6 kg/m3 respectively. The latent
heat of vapourization of water = 2.25
x 10° J/kg) :

(1) 2.25%x 10% J (2) 2.08x 10° J
(3) 1.7x10° T (4) 3.95%x 10° J

A stationary positive pion can decay
according to m' —u’ +v kinetic
energy of the neutrino will be (Given
myc® = 139.6 MeV, m,c* = 105.7
MeV and m, =0) :

(1) 339MeV  (2) 4.12MeV

(3) 29.8 MeV  (4) Zero

If the maximum and minimum
voltage of an AM wave are V.,
and V_;, then the

modulation factor m is given by :

Viax TV

respectively

(1) m = —max min
Vmax - Vmin

(2) m= Vmax — Vmin
Vmax + Vmin

(3) m= Vmax + Vmin

2

( 4) m= Vmax Vmin

V +V

max min

P.T.O.



[A]

131.

132.

T% I @ qaiRa e @
B A T Qe TR d B, B 1 =
0 | qeFk g9 € qAT ST
gieig R & T e UX SISl e 2
Bhd A2 B TH GHAd G W
AR #X, S @l % GHIK 39 7Y
T W B 39 gae 9 faeme
a0 999 % BEd b @9 H 39 JER
§ S T (S B W W @
ﬁ'@ﬁ&ﬂ?ﬁﬂe%):

€ __td

(1) o €AR
@ o ;i
3) % e_zenflxR
“4) % e_ezze

qeadl ¥ TehE T OB TR W FE
v R o § aen et e

I B ¥

bbb o

I T A, B &l THNd &l 8 el
C & sfcrpidial

I T D, B & oThNd &t 8 el
E &l yaiad S8l &Yt 2

[l T& FOT AR 88 A @M E &
& AT H B
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131.

132.

A parallel plate capacitor having
plate area A and plate separation d,
is joined to a battery of emf € and
internal resistance R at t = O.
Consider a plane surface of area A/2,
parallel to the plates and situated
symmetrically between them. The
displacement current through this
surface as a function of time is given
by (e is permittivity of medium
between the plates) :

S _ i

(1) o €AR
@ ;i
3) % e_zenflxR
) % e_ezﬂe

Five Styrofoam balls are suspended
from insulating threads. Several
experiments are performed on the
balls and the following observations
are made :

b

Ball A attracts B and repels C.

II Ball D attracts B and has no
effect on E.

IIT A negatively charged rod attracts
both A and E.



133.

134.

gﬁ:ﬁﬁawaﬁﬂ,q&aﬁéaa‘rw

A B C D E
Hm+ - + 0 +
2+ - + + 0
3+ - + 0 0
4- + - 0 0

59 B R & % faafa aifes ad
H AR Q o om &, @ IO =
W fa9g 100 V 31 o9 34T & ST
o & B % UF oTed M @
YOl e T wheE fodia
T Bl 29 M B b WX favE R

=

(1) 100V (2) 50V
(3) 150V 4) 200V

e & weftfg ofifftafy W fem &
Uh GHAS 9T Tk i & Ue d h
SaE I @l 31 Y § (oradHiE w
P) T URENE 5d d HAE qB A
3l U BN N I AW e &
gfeferar @ g R

/11111117

(1) h —d + d/u 4o % di8
(2) h+d—d/uzdo % d®
(3) h —d/u 3901 % 4B
4) h+ duTYoT & 98

Level-3/9215

133.

134.

[A]

What are the charges, if any, on each
ball ?

A B C D E
Hm+ - + 0 +
>+ - + + 0
3+ - + 0 0
4- + - 0 0

When a charge Q is given to an
isolated metallic sphere of radius R,
the potential at the centre is 100 V.
Now the same charge is uniformly
distributed over the volume of a non
conducting solid sphere of same
radius. The potential at the centre of
this sphere is :

(1) 100V
(3) 150V

(2) 50V
(4) 200V

Consider the situation shown in
Figure. A plane mirror is fixed at
height & above the bottom of a
becker containing a transparent
liquid (of refractive index W) upto a
height d. Then the image of bottom

formed by the mirror is at a distance :
[1/11111]

(1) h —d + d/u behind the mirror
(2) h + d —d/u behind the mirror
(3) h —d/u behind the mirror
(4) h + d/) behind the mirror
P.T.O.
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135.

136.

Pl r @ T G BSA R B U@
FHeR (bowl) H Taw FX W ¥, 36D

A T AT BIT -

(R-1)

(1) 2=

(r=R)

(2) 2=m

3) 27t\/z
8
4) 27t\/E
8

Th S % RY T PR
SEhE T 70 m/s B oA 9

TG x Y @ Rem ¥ 5@ @R
t=0 WS & x=0 W T 7 &
APRY @MT 4 cm B T T@
| T2 81 x = 0 ) Read For @
AT APRY A 16 m/s B T

1 SR R

(1) 16 Hz (2) 32 Hz

(3) 64 Hz (4) 80 Hz
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135.

136.

A Ball of radius r is made to
oscillate in a bowl of radius R, its

time period of oscillation will be :

(R=7)

(1) 2=

(r=R)

2) 2=m

3) 2Jt\/z
8
4) 27t\/E
8

A transverse sinusoidal wave is
traveling along a string in positive
direction of an x-axis with a speed of
70 m/s. At t = 0 the string particle at
x = 0, has a transverse displacement
of 4 cm and is not moving. The
maximum transverse speed of the

string particle at x = 0 is 16 m/s. The

frequency of the wave is :
(1) 16 Hz (2) 32 Hz

(3) 64 Hz (4) 80 Hz



137. o # wefdid sgawnr W R &R

138.

Tl qel B e 9W 9k N, ith
T W (39) & " SAtwd ik
P IRAT B, T A @ B (39)
& A offNad  WiakRAr @1 GREmT

s e BT 7

(1) Ncos O+ Mg
(2) Ncos© + Mg + mg
(3) Ncos©—mg
(4) Nsin© + Mg + mg

e & weRfd ol W fRm &
o) el & g A @ B & d9&
Hde GRadl &l g # B WA &
T YT :

(1) T F 3 B
(2) = F AT B

(3) g9 B
(4) T 99 Rafq § T8 ® dednl
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[A]

137. Consider the arrangement shown in

138.

figure. Assume all surfaces to be
smooth. If N represents magnitude of
normal reaction between block and
wedge, then the normal reaction
between ground and wedge will have

L.

magnitude equal to :

(1) Ncos O+ Mg
(2) Ncos© + Mg + mg
(3) Ncos©—mg
(4) Nsin© + Mg + mg

Consider the situation shown in figure.
The wall is smooth but the surfaces
of A and B in contact are rough. The
friction on B due to A in equilibrium :

F

A | B |&——

(1) 1s upward.
(2) is downward.
(3) 1is zero.

(4) the system cannot remain in
equilibrium.

P.T.O.
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139.

140.

141.

1 kg ZFHM H Th FO1 SN x-3& &
aFgfedr MHE B W U Tha GE
S F(x) ®Ea 21 Rafest &1 U),
Ux)=20+ (x—2)> | & it & &t
UWﬁHﬂTx‘ﬂHﬁ%lszmW
HOT P TS Hott 20 J Bl A B aed

frg

(1) x,=-7.38mTM x,=7.38 m |
(2) x, =-338maN x,=7.38 m |
(3) x, =—-538 M@ x,=538mW

(4) 39 TR B T B T B a=
fog 78 8

Imm* FE TR FaR T 1 A

qRT Falfed o1 Wid U] U g

AR A G A H qH g

P @R o & (A # T 9000

kg/m3%):

(1) 0.074 mm/s

(2) 0.037 mm/s

(3) 10 m/s

(4) I A & o AR ge =Ry

Tk O r B & FHEEX g9 b
S fog 4 Th Rl Gﬁ?ﬂ Sl
FEET § BT O FACKH 3, b IR
frm & fegern &1 A= o= &
9y

(1) 6=0°% fqQ I 3

(2) 6=0°% fQ == B

(3) 6=45°% fW A B

(4) 6 W G B
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139.

140.

141.

A single conservative force F(x) acts
on a 1 kg particle that move along
the x-axis. The potential energy U(x)
is given by U(x) = 20 + (x—2)2
where U is in joule and x is in
meter. At x = 5 m the particle has a

kinetic energy of 20 J. The turning
points of the motion are at :

(1) x;=-738mand x,=7.38m
(2) x;=-338mand x,=7.38m
(3) x =-538mand x,=5.38m

(4) There are no turning points for
such a motion

A current of 1 A exists in a copper

wire of cross section 1 mmz.

Assuming one free -electron per
atom, the drift speed of free
electrons in the wire will be (The

density of copper 1s 9000 kg/ m? ):
(1) 0.074 mm/s
(2) 0.037 mm/s

(3) 10° m/s

(4) More information is needed to
answer

A particle slides from rest from the
top most point of a vertical circle of
radius r along a smooth chord
making an angle 6 with vertical. The
time of descent is :

(1) least for 6 = 0°.

(2) maximum for 6 = 0°.
(3) least for 6 =45°.

(4) independent of ©.



142.

143.

TSt it K H T SNy e
Ber R & % dEwieH H g@nt
wnm%qi%ramiﬁzﬁﬁﬁ

JIbE S 3@ TER & A 2 (Tl
Hhdl & e oY g)

272

K

() pP= : 3,2

6TE) C"R°m
2@21(2

3neyc n12R2

(2) P=

4¢°K?

3) P=
3neyc n12R2

62K2

4) P=
3ne mPR?

q Ya9% TF & 96 Th A0 H IS
g 2| Ued Ya€® H deedl @ 10
g T gE &l dicedl died 20 31 AR
fast Ree 001 V B, @ fri
Rt 8

(1) 0.01V
2) 0.1V

31V

4 2V
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142.

143.

[A]

A non relativistic proton of kinetic
energy K circulates in a cyclotron
with radius R. The electromagnetic
energy radiated per second is given
by (here the symbols have their usual
meanings) :

(1) p—i
6T g AR2m

2@21(2
3ne mPR

4€2K2
3 P= oy
TE c m°R

(4) b 62K2

3ne mPR?

Two amplifiers are connected one
after the other in series. The first
amplifier has a voltage gain of 10
and second has a voltage gain of 20.
If the input signal is 0.01 V, the

output signal will be :
(1) 0.01V
2) 0.1V

31V

@ 2V
P.T.O.
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144.

145.

146.

Sife g Aot LCR aRuy &l e
JMgRT HT ge™ & T

(1) St & ofafd &l &9 &<
Bl

|
(2) B0 § SURYT €A & THRIK
M H o g HORA A
Y
(3) I q AT WS BT A1 AR

(4) SR & GREET 8T I ey

TF GRY A o9 aRa B =3 +4]
T e Sar & a9 g aRemHr @i
T y Rem § ¥ e o B
g‘tﬁw%w% A F i

(1) 10
(2) 10
3) 5

@) 15
I TE g &g dited JoTEH ©

(1) S gREiadr a9 Soa el
EK[

(2) S=g YRS o = e
EGll

(3) =1 gl @ S= el
EK[

@) M= groshiaa 9o e e
EGll
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144.

145.

146.

To reduce the resonance frequency
in an LCR series circuit with a
generator :

(1) the generator frequency should
be reduced.

(2) another capacitor should be
added in parallel to the capacitor
already present.

(3) the iron core of the inductor
should be removed.

(4) dielectric in the capacitor should
be removed.

A:) vector %) when added to vector
B =3i+4; gives a resultant vector
that is in the positive y direction agd
has a magnitude qual to that of B .
The magnitude of A is:

(1) 10
(2) 10
3) 5
@) 15

The desirable properties for making
permanent magnets are :

(1) high retentivity and

coercive force.

high
(2) high retentivity and low coercive
force.

(3) low retentivity and high coercive
force.

(4) low retentivity and low coercive
force.



147.

148.

ST @ ¢ JAT ST &9 m Fl
tF Tg 9’9 H fRm # }, @R
B ol FEEd R 4% E A
%eE 4 @ R B & e @ 9w
v=2gh & THTH B1 E, g TN ¢ B
e d o B AN R

ey
2)
) ——

4 ——

g

THh IUH THOAN @0 9 A
W B T H A B D
e H Uh Al IS b
BN & o9 Up e R R
d o7 W fogH Semue & Bd 9
144 m & FAE W 31 AR IR
war & % fowm 0.6 s § w9
chdl %I S™Uh bl m/SZﬁ%I

(g=10m/s? i)

137

(1) 2
) 8
(3) 4
4) 10
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147.

148.

[A]

A ball of known charge g and
unknown mass m initially at rest,
falls from a height 4 in a uniform

electric field 173) that is directed
vertically downward. The ball hits

the ground at a speed v =2,/gh. The
value of m in terms of E, g and g s :

ey
(2)
3)

4) —

An elevator is descending with
uniform acceleration. To measure
the acceleration, a person in the
elevator drops a coin at the moment
the elevator starts. The coin is 1.44 m
above the floor of the elevator at the
time it is dropped. The person observes
that the coin strikes the floor in 0.6 s.
The acceleration of the elevator in
m/s? s : (take g = 10 m/s2)

(1) 2
) 8
(3) 4
4) 10

P.T.O.
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149.

150.

T THRR @ e WoEi® 3
T qRIGER wed @ 107 Vim &
qared H ST FX 1 kV A ()
qeedt & fog d@feaRa fem S B

g i 3T q, B9 =ed ¢ 6 fagd
& FH o e "meE & 10% 8
1fies W&l 8 53.1 pF & aiiiar ur
P & [T FEEE JAqH «T B
BB ©

(1)2<:m2
(2) 20cm?
(3) 35cm?
(4) 60cm>
Teh %Y B TG £ = 0 W & T i
M u B ZTH @O URET @ SR B
qen fad B AN x, 9 xp 6@

Ted 10 Q%S U1 ST 10 Fve §
foreemast & ofvmmer # ar

(1) x4<xp
(2) .xAsz
(3) XA>Xp

4) x, TM xz > A9 GET T
X & [T gI G T o

[46]

149.

150.

A parallel plate capacitor is to be
designed with a voltage rating 1 kV
using a material of dielectric constant

3 and dielectric strength about 10
V/m. For safety, we should prefer
that the electric field never to exceed
10% of dielectric strength. The
minimum area of the plates that is
required to have a capacitance of
S3.1pFis:

(1) 2 cm?
(2) 20cm?
(3) 35cm?
(4) 60cm>

A particle has a velocity u towards
east at ¢+ = 0. Its acceleration is
towards west and is constant. Let x,

of

displacements in the first 10 seconds
and the next 10 seconds. Then :

and xp be the magnitudes

(1) xp<xp
(2) XAZ.XB
() xa>xp

(4) The information is insufficient to
decide the relation of x, with

XB

Level-3/9215
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U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B ‘;I'S:I—gﬁfidvl H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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